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0 O 0O O 1. Though he did not say so directly, the inspector
the man was guilty.A. declared B. implied C. disclosed D. said[[J [I ]
B. implied.[0J O Jimply O O O O O ......00 O O O Silence
sometimes implies consent.(L] O O O O O O O 0O )2. At first it
seemed that the building would be all right but later it was found to
need Al installations B. modificationsC. innovations D.
llustrations[J 1 ] B. modifications.[[] [ Jmodification I [ [ [J
O Oinstallation 0 O 0O O O O O O O innovation [

(D illustrationd O 0O O 0O O O O O O O O modifications U [ [

[ 00 3.Wecanonlygiveyouthe  number of refugees crossing
the border at the moment.A. obscure B. approximate C. impartial D.
imaginary[] O ] B. approximate.[[] [J Japproximate 1 I [0 I [
0 O O obscureld O O O impartial O O 0O O O O O O imaginary
[ O 0O O 4. Magnificent views over the countryside have often
_______people to write poems.A. convinced B. inspired C. induced
D. attracted[[J [0 ] B. inspired.[0J O Jinspire 0 OO OO O 0O O O O

[1 1)His speech inspired us to try again. 2)He inspired confidence in
me.(J O O OO O 0O O )3)The good news inspired us with hope. (
OO00000000000O)5. There are several landladies
approved by the universitieswho takein A, lodgers B.
residents C. inhabitants D. settlers[J [ ] A. lodgers.[J O Jlodger[
[ O residentt] O (O O O O O).local residents(d O [



[1),temporary residents(L] [ [J [J )0 inhabitant(=person living in a
place)d O [0 a small town of 5,000 inhabitants(CJ 5,00000 O [ [
(1) settlert] OO 0O O O O O O White settlers in Kenya( U 00 [
D000 Oimmigant D 0D 00000000000
DO00000000000000e6. Heisthe rudest man | have
ever met. Jane, his present secretary, is the only person who
can____ him.A. respect B. stand C. support D. dislike[] I ] B.
stand.[[J [ Jstand (=endure, bear, put up with)J 00 OO 0O O O 1)
cant stand that woman. 2)He cannot stand criticism.7. The main
road through Littlebury was blocked for three hours today after an
accident _ two lorries.A. containing B. connecting C. involving
D. including[] O ] C. involving.[OJ OO0 Jinvolve OO I 00 O O [

[0 1)This probleminvolvesusall. (U OO0 OO O0OO0OOOO
[1)2)His work involves occasional journeys. (I O 0O 0O 0O 0O O O
0O 0O 00O 0O)3) To accept the appointment would involve living
inLondon. (U OO OOO0OOOOOOOO O )4)John was
iInvolved in the trouble. (U O O O O O O O )contain U O U O [
Oconnectd O 0include0 D00 0O0OO0OOOOODOOONO
OO00000000000LitteburyD DOOOO3000
[1 8. Jane read the article over ten minutes but continued to feel the
event related were  .A. inheritable B. incredible C. infeasible D.
Inaccessible[J [ ] B. incredible. [(J I Jincredible OO O 0O O [

[ inheritable O O O O O infeasible O O O O O . inaccessibled [
[ O O (to) 9. In some cities it is very difficult to have a telephone
, and people have to wait a long time before they can get a
phone.A. assembled B. installed C. equipped D. repaired[[] [J ] B.




installed. [J OJ Jinstall OO OJ 00 assemble(=put together) [ [
equip OO Orepaire 0 0 O10.  upchildren properly is
mainly their parents duty.A. Growing B. Rearing C. Bringing D.
Raising[J OO ] C. bringing.[ O Joringup 0 0 OO0 OO0 OO
[1 1)The child is badly brought up. 2) | was brought up to be honest.
OOm17000growup 00000000 OOOOL)Igrew
uponafarm. (O O O O O O O )2)The custom of going away for
ones holiday has grown up during the last thirty years.(O U 0O O [
Do00ooo30000od)reard OO0 OO rear children.
raise[] U0 OO O ]JU O O Where was he raised? (1 U O O 0 O [
D)raise 0% OO O0OOO[O O Jrear U raisel] O O O up,
OO00000Orearing O raising. 100Test D 0 OO0 OO0 OO O
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